Parametric and Polar Equations Review Name K@ A
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Problems 2 - 11: Eliminate the parameter to write the parametric equations as a
rectangular equation.
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Problems 11 and 12: Write two new sets of parametric equations for the following
rectangular equations.
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13. For the parametric equations x = t and y = t° P i , A L
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b) Graph x =1 -1and y 2. How does this compare to the graph in part 3 v
c¢) Graph x =t and y = t? - 3. How does this compare to the graph in part (a)?
d) Write parametric equations which will give the graph in part (a) a vertical stretch by

a factor of 2 and move the graph 5 units to the right. (Hint: Verify on your

calculator!

14. Do the following sets of parametric equations cross at the same time so they collide or
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Plot the point given in polar coordinates and find fwo additional polar

representations of the point, using -360° < 6 < 360°. \g
)4, 150% @(-4,-210°) jaasSiotng
0 T 1 AR
(~H,~30) (—L\) 330") ( 51 \50)
(4, -210) (1, 330%) (/Z7~3O)
Find the corresponding rectangular coordinates for the point given in
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Graph
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TRIGONOMETRY REVIEW |
Find the exact value without a calculator. Qarceos = CoS
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32. Write the complex numbers in polar form (trigonometric form)
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33. Using the complex numbers w-z above, S|mpl|fy the following using polar form.
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EXTRA PRACTICE WITH POLAR ' 0‘?‘ COSG I |
Convert to rectangular coordinates: : _ébnver'l' to polar coordinates: 6y 3106
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